Pythagorean Theorem
P..P....what?

Well, it doesn't have the best name in the world. This idea is actually named after a Greek guy
named Pythagoras. Allegedly he came up with it, but most people think he actually stole it from the
Egyptians. We let him get away with it because the Egyptians already have enough fame and glory
without it. Why is it so important? Well, the Egyptians likely used it to build the pyramids. Think
of it, a single math idea that created arguably the most recognized structures ever made. Not bad
for a little math, eh?

Okay, okay, this isn't a history book. Let's get on with it. The Pythagorean theorem is a formula that
relates the sides of a right triangle to each other. The sum of the squares of the two legs of the right
triangle is equal to the square of the hypotenuse.

Pythagorean theorem
¢ hypotenuse

leg a 224 bh2=c2

b

other leg
It is critically important that the hypotenuse be the "c". The two legs you can switch because
addition is commutative. (Huh? Get out your algebra book) If you don't make the "c" the
hypotenuse King Tut will rise from his sarcophagus and eat your brain. Trust me, | know from

experience. Here are a couple of examples of how to use it.

Use the Pythagorean theorem to find the missing side of each triangle.

Ex. 1. Step 1: Write out the theorem.
a*+b*=c*
7in Step 2: Plug in and solve.
824+ 7%=x? (Notice the "x". The hypotenuse is where
6A+49=x> the "c" was. Don't lose your brains!)
113=x*
VIT3=Vx?
10.6In=X (Well, it's actually 10.63014581in, but we
will round to the nearest tenth.)
Ex. 2. Step 1: Write out the theorem.
2, )22
11in a?+b*=c
* Step 2: Plug in and solve.
x?+9%=11%  (Notice the "x" is one of the legs this time,
9in K*+81=121 and "11" is the hypotenuse. Don't mix
g1 -1 these up!)
X*=40
Vi*=V40
X=6.3in

To the chariots! (That's Egyptian for "let's go.")
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Write out the Pythagorean theorem, and solve for |2. X
the missing side of each right triangle.
1. 6mm
15mm
X
7ft
(1
3ft
3 4.
10cm 10cm X
38in
X
26in
5 6.
X
X
98yd 45m
90yd
23m

Bubble all the correct answers from above. Don't bubble incorrect answers.
Q6.7 O7e6 O387 (O738 Q137 (O388 Q141 Q411 Q277 Q727
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19m 44m
X
9 10.
3ft
X
4ft
11. 12.
X
X
92mi 67mm
31mm
13mi

Bubble all the correct answers from above. Don't bubble incorrect answers.
Oes Os Q104 O738 099 0929 QOs594 Q77
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For these draw a picture... it will help a lot! 14. Find the hypotenuse of a right triangle with

13. Find the hypotenuse of a right triangle with legs 23in and 17in long,

legs 16in and 12 in long.

15. A right triangle has a hypotenuse thatis 45m |16. A right triangle has a hypotenuse that is 19ft
long and one leg that is 15m long. Find the long and one leg that is 6ft long. Find the
length of the other leg. length of the other leg.

17. Find the hypotenuse of a right triangle with |18, A right triangle has a hypotenuse that is
legs 79c¢m and 55cm long. 37mm long and one leg that is 21mm long.
Find the length of the other leg.

Bubble all the correct answers from above. Don't bubble incorrect answers.
0963 Q305 Q18 Q424 QO20 O155 Q474 Qs O425 (O286
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